Chap8hw

Answer Section
MULTIPLE CHOICE

1.
ANS:
A
PTS:
1
DIF:
2
REF:
8-2

NAT:
Analytic
LOC:
Elasticity
TOP:
Tax incidence  | Elasticity

MSC:
Applicative
TRUE/FALSE

2.
ANS:
T
PTS:
1
DIF:
2
REF:
8-3

NAT:
Analytic
LOC:
Supply and demand

TOP:
Laffer curve

MSC:
Definitional
SHORT ANSWER

3.
ANS:


	a.
	$10

	b.
	$3,600

	c.
	$2,400

	d.
	$6,000

	e.
	$900

	f.
	$600

	g.
	$3,000

	h.
	$4,500

	i.
	$1,500


PTS:
1
DIF:
3
REF:
8-1
NAT:
Analytic

LOC:
Supply and demand

TOP:
Welfare
MSC:
Applicative

